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ct phép hoc dé diéu
chinh cach sir dung
tir va cau tiéng Anh
phu hgp véi ting
ng canh

I11. N§i dung cau héi thi
PHAN TRAC NGHIEM (5.6 diém)

SECTION 1 (16 questions, 0.2 mark each)

Choose the correct answer A, B, C or D. (3.2 marks — 0.2 each)
How many morphemes are there in the word "extraordinarily**?
A.3

B.2

C.4

D.1

ANSWER: A

The morphemes in *'significantly’ are
A. free morpheme+ bound morpheme

B. bound morpheme + bound morpheme
C. bound morpheme+ free morpheme
D. free morpheme + free morpheme

ANSWER: A

Which one of these statements is true?
A.'s"in "John's" is an inflectional morpheme

B. 'er"in "shorter" is a derivational morpheme
C.'s"in "learns" is a derivational morpheme

D. 'be' in 'befriend’ is an inflectional morpheme.

ANSWER: A
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Which is the correct division of the English word **exceptionally** into morphemes?
A. except +ion +al + ly

B.ex +cept+ion+al +ly

C. ex + cept +ion + ally

D. except + ion + ally

ANSWER: A

If the addition of a morpheme causes a word class to change, itisa ......ccc......
A. derivational morpheme

B. inflectional morpheme

C. bound morpheme

D. root morpheme

ANSWER: A

The inflectional morpheme *ing" in "taking" iS ....ccceeueee
A. present participle

B. possessive

C. past tense

D. past participle

ANSWER: A

What type of word is ‘'some’?
A. Quantifier

B. Noun

C. Preposition

D. Conjunction
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ANSWER: A

Which of these words is an example of a proper noun?
A. John

B. Chair

C. Happiness

D. Sponge

ANSWER: A

What type of word is ‘any'?
A. Determiner

B. Noun

C. Preposition

D. Conjunction

ANSWER: A

The sentence: ""You should try to work hard, or you will be fired." is a .......cccc......
A. Compound sentence

B. Complex sentence

C. Compound-Complex sentence

D. Simple sentence

ANSWER: A

Complete the complex sentence: "*Anne dropped her cup of tea..."

A. since she was frightened by a bee."”
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B. and Tim laughed at her."
C. but she immediately picked it up.”
D. so she needed another one."

ANSWER: A

The sentence: ""We are learning English while Josh is watching a movie." is

A. Complex sentence

B. Compound sentence

C. Compound-Complex sentence
D. Simple sentence

ANSWER: A

Find the adjective phrase in this sentence ""Will you delay your trip to France?"
A. to France

B. delay your trip

C. will

D. your trip

ANSWER: A

In the sentence " To avoid disturbing the kids, David chose to tiptoe to bed.", what is
the form of the underlined words?

A. Adverbial phrase

B. Subordinate clause
C. Conditional phrase
D. Independent clause

ANSWER: A
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Which of the following sentences contains structural ambiguity?
A. "Sherlock saw the man with binoculars.”
B. "He painted the house green and blue."”
C. "They visited the museum on Sunday."
D. "She bought some flowers in a supermarket."”

ANSWER: A

Find the noun phrase in this sentence ""The old yellow brick next to my house is rather
old.”

A. the old yellow brick road next to my house
B. the old yellow

C. rather old

D. next to my house

ANSWER: A

PART 2
IC TREE DIAGRAM (2.4 marks — 0.3 each)

What is each numbered space best replaced with?
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DET2 /N’2\
o
ART ‘Ii

felt thrilled with the new opportunity

A. 1: AP; 2: AdvP; 3: NP2; 4:headN2
B. 1: AdvP; 2: AP; 3: NP2; 4: headN2
C. 1: AP; 2: AdvP; 3: N’; 4: headN2
A. 1: AP; 2: AP; 3: NP2: 4: headN2

ANSWER: A

What is each numbered space best replaced with?
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NP,
//’-\
NP, AP
/\ |
DET N, 4
/\
AP 1 N’z
| i
1 2 Apg N’;
‘ |
| ’ ? headN
I
the wonderful car trip  that they had last year

A. 1: ART, 2: A, 3: ModN, 4: S'
B.1: ART, 2: A, 3: A2, 4: S
C.1: DEM, 2: A, 3: ModN, 4: S’
D.1: DEM, 2: A1, 3: A2, 4: S

ANSWER: A

What is each numbered space best replaced with?

1
/\
P 2
/\
DET N1’
3 AP N2’

| |
4 headN

I I
with some nice flowers

A.1:PP,2: NP, 3:Q, 4: A

B. 1: NP, 2: AP, 3: Q, 4: headA
C. 1: PP, 2: NP, 3: ART, 4: headA
D. 1: NP, 2: NP, 3: DEM, 4: A

ANSWER: A
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What is each numbered space best replaced with?

S
/\
1 S
e WOl
Fortunately K >
/\
she
/\ A
. in time.
/\ / N
SfI:nt the email to her boss

What is each numbered space best replaced with?

A. 1: AdvP, 2: VP, 3: VP, 4: PP
B. 1: AdvP, 2: VP, 3: VP, 4. NP
C.1: AP, 2: VP, 3: AP, 4: AdvP
D. 1: AdvP, 2: VP, 3: AP, 4: PP

ANSWER: A

What is each numbered space best replaced with?

/// \\\\<
S1 3
NP2 VP2
1 VP1 Conj "
Ve ‘ ‘ | Vgrp(intens) l
He loves travelling but he is poor.

A.1:NP1, 2: NP, 3: S2, 4: AP
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B. 1: HeadN, 2: Vgrp, 3: S’, 4: A2
C. 1: NP1, 2: Vgrp, 3: S2, 4: A2
D. 1: NP1, 2: headN, 3: S’, 4: A2
ANSWER: A

What is each numbered space best replaced with?

S3
/’/ B ~ ~—
/ | T8
s1 ‘
i NP2 VP2
NPI o }3
NP2
1 ‘ 4 |
|
You work productively or you will miss the deadline.

A. 1: VP, 2: AdvP, 3: conj, 4: Vgrp
B. 1: VP, 2: AdvP, 3: Comp, 4: Vgrp
C. 1: AP, 2: AdvP, 3: conj, 4: Vgrp
D. 1. AP, 2: AdvP, 3: Comp, 4: Vgrp
ANSWER: A

What is each numbered space best replaced with?
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S
NP 1
things VP 2
MOD VP 3 S

[pr’es] /\ I /\

V 4 if NP VP
of U] e . W 4.1
‘ rather dull Hieronimo leaves

be

A.1: VP, 2: S’ 3: Comp, 4: AP
B.: VP, 2: S, 3: Comp, 4.:AP

C.1: AP, 2: S’, 3: Comp, 4: AP

D. 1: VP, 2: S’, 3: Comp, 4: ADVP
ANSWER: A

What is each numbered space best replaced with?
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Sl

NP1 ~ 4

NP
2

DET 1
| NP2 VP2

Head N
ART |

The fact that hersister isa famous model is surprising.

A.1:N°,2: Comp, 3: S’°, 4: VP1
B.1: N, 2: Conj, 3: S’, 4: AP1
C.1:N’,2: Conj, 3: S’, 4: API
D.1:N’, 2: DET, 3: S’, 4: VP1
ANSWER: A

PHAN TU LUAN (4.4 diém)
SECTION 3

Identify the different word-formation processes involved in producing each of the
underlined words in these sentences. (2 marks — 0.2 each)

Cau héi 1: (0.2 diém)

| decided to donate my old clothes to the local charity to help those in need.

Cau héi 2: (0.2 diém)
| have a sweet tooth, so I'll have a cookie for dessert.

Cau héi 3: (0.2 diém)
The most impressive highlight of the trip was witnessing the breathtaking sunset over the
mountains.

Cau héi 4: (0.2 diém)
The charity organization hosted a telethon to raise funds for a noble cause.

Cau héi 5: (0.2 diém)
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Whenever | need a ride, | call a taxi.

Cau héi 6: (0.2 diém)
The local nonprofit organization assists in providing education and resources to
underprivileged communities.

Cau héi 7: (0.2 diém)
The movie depicted the chilling story of a psycho on a quest for revenge.

Cau héi 8: (0.2 diém)
Movie night isn't complete without buttery popcorn.

Cau héi 9: (0.2 diém)
We should never tolerate any form of animal abuse.

Cau héi 10: (0.2 diém)
For breakfast, | prefer a bowl of healthy granola.
PART 4

Determine the form (N, V, Adj, Adv, or Uninflected Words — UW), position (Nominal,
Verbal, Adjectival, Adverbial), and syntactic functions (Subj, DirObj, IndirObj,

PreObj, SubjComp, Mod...) of the underlined word in each of the following sentences.
(2.4 marks — 0.3 each)

Example: Max was struck by lightning.

Answer: Form: Noun Position: Nominal Function: PrepObj
Cau héi 1: (0.3 diém)

Swimming is one of her hobbies.

Cau héi 2: (0.3 diém)
I'll go to the supermarket to buy some flour.

Cau héi 3: (0.3 diém)
A railway track running north-south has been built.

Cau héi 4: (0.3 diém)

My friends sent me some flowers.

Cau héi 5: (0.3 diém)

The wrestling roommates were exhausted.

Cau héi 6: (0.3 diém)
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My goal is to study abroad this year.

Cau héi 7: (0.3 diém)
| found this book very interesting.

Cau héi 8: (0.3 diém)
They chose Tim their leader last year.

BM-003

PAP AN PHAN TU LUAN VA THANG PIEM

adverbial, Function: Modifier/ Mod/
Adjunct/ Adjunct of purpose

Phan cau héi Néi dung dap an Thang diém | Ghi chd
I. Triac nghiém 5.6
Phan 1 3.2
Caul-16 A 0.2
Phan 2 2.4
Caul-38 A 0.3
Il. Ty luan 4.4
Phan 3 2.0
Caul backformation 0.2
Cau 2 borrowing 0.2
Cau 3 compounding/ compound 0.2
Cau4 blending/ blend 0.2
Caubs clipping 0.2
Cau 6 derivation/ affixation 0.2
Cau7 coinage 0.2
Cau 8 compounding/ compound 0.2
Cau9 conversion 0.2
Cau 10 acronym 0.2
Phan 4 2.4
Caul . : 0.3

Form: noun, Position: nominal,
Function: Subject
Céu 2 Form: infinitive phrase, Position: 0.3
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Cau 3

Form: present participle phrase,
Position: adjectival, Function :
Modifier/ Mod

0.3

Céau 4

10

Form: UW, Position: nominal,
Function: IndirObj/ Indirect Object/

0.3

Caub Form: verb/gerund, Position: 0.3
adjectival, Function: Modifier/Mod

Caub6 Form: infinitive phrase, Position: 0.3
nominal, Function: SubjComp/
subject complement/ SC

Cau7

Form: noun phrase, Position:
nominal, Function: DirObj/ Direct
Object/ DO

0.3

Cau 8 Form: noun phrase, Position: 0.3
nominal, Function: ObjComp/ Object
complement/ OC

Piém tong 10.0

Trwéong bo moén

TS. Nguyén Hoa Mai Phwong

TP. Hé Chi Minh, ngay 22 thang 06 nam 2024

Giang vién ra dé

Pham Qué Anh
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